ZETA DADO RUOTA

ANTERIORE
Moto Anni | Misure | Rosso | Orange [ Verde | Blue | H-Blue

HONDA
CR125R 02-07 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CR250R 02-07 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF250R 04-21 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF450R 02-21 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF250RX 19-21 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF450RX 17-20 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF250X 04-17 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF450X 05-21 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF450L 19-20 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF450RL 21 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF1000L AFRICA TWIN 16-19 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF1100L AFRICA TWIN/DCT 20 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
CRF1100L AFRICA TWIN ADV SPORTS ES/| 20 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -

YAMAHA
YZ125 05-21 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
YZ250 05-21 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
YZ250F 05-13 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
14-20 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
YZ450F 05-13 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
14-21 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
YZ125X 17-21 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
YZ250X 16-21 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
YZ250FX 15-20 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
YZ450FX 16-21 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
WR250F 06-19 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
20 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
WRA50F 06-18 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
19-21 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
WR250R 07-17 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
WR250X 07-17 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -

KAWASAKI

KX125 99-03 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
04-08 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
KX250 99-03 M16x22-P1.5 H11 ZE93-8012 - - ZE93-8016 -
04-08 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
KX250F 04-18 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
KX250 19-21 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
KX250X 21 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
KX450F 06-18 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
KX450 19-20 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
KX450X 21 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
KLX450R 08-19 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -

SUZUKI
RM-Z250 04-20 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
RM-Z450 05-20 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
RMX450Z 10-17 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
DR-Z400R 00-04 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
DR-Z400E 00-06 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
DR-Z400S 00-17 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -
DR-Z400SM 05-17 M18x24-P1.5 H9 - - ZE93-8035 | ZE93-8036 -




ANTERIORE

Moto | Anni | Misure | Rosso | Orange | Verde | Blue | H-Blue
KTM
858X 12-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
1258X 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
150SX 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
250SX 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
250SX-F 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
350SX-F 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
450SX-F 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
125EXC 16 |M20x19-P1.5 H21 (BOLT), - ZE93-8073 - - ZE93-8079
150EXC 20-21 120x19-P1.5 H21 ( R)L b - ZE93-8073 - - ZE93-8079
200EXC 16 |M20x19-P1.5 H21 (BOLT), - ZE93-8073 - - ZE93-8079
250EXC 16-21 [M20x19-P1.5 H21 (BOLT), - ZE93-8073 - - ZE93-8079
300EXC 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
250EXC-F 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
350EXC-F 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
450EXC-F 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
500EXC 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
125XC-W 17-19 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
150XC-W 17-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
200XC-W 16 |M20x19-P1.5 H21 (BOLT), - ZE93-8073 - - ZE93-8079
250XC-W 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
300XC-W 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
450XC-W 16 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
500XC-W 16 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
250XCF-W 16 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
350XCF-W 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
500XCF-W 20-21 ]20x19-P1.5 H21 ( R)L - ZE93-8073 - - ZE93-8079
125XC 21 ]20x19-P1.5 H21 (R)L b - ZE93-8073 - - ZE93-8079
250XC 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
300XC 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
250XC-F 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
350XC-F 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
450XC-F 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
HUSQVERNA
TC85 14-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
TC125 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
TC250 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
FC250 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
FC350 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
FC450 15-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
TE125 16 |M20x19-P1.5 H21 (BOLT), - ZE93-8073 - - ZE93-8079
TE150 17-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
TE250 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
TE300 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
FE250 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
FE350 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
FE450 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
FE501 16-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
TX125 17-19 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
TX300 17-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
FX350 17-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079
FX450 17-21 |M20x19-P1.5 H21 (BOLT) - ZE93-8073 - - ZE93-8079




ZETA DADO RUOTA

POSTERIORE
Moto Anni | Misure | Rosso | Orange [ Verde | Blue | H-Blue
HONDA
CR125R 00-07 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
CR250R 00-07 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
CRF150R 07-21 M16x27-P1.5 H13L ZE93-8022 - - - -
CRF150R2 07-21 M16x27-P1.5 H13L ZE93-8022 - - - -
CRF250R 04-21 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
CRF450R 02-21 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
CRF250RX 19-21 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
CRF450RX 17-20 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
CRF250X 04-17 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
CRF450X 05-21 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
CRF150F 03-17 M16x27-P1.5 H13L ZE93-8022 - - - -
CRF230F 04-17 M16x27-P1.5 H13L ZE93-8022 - - - -
CRM250R 89-96 M16x27-P1.5 H13L ZE93-8022 - - - -
CRM250AR 97-98 M16x27-P1.5 H13L ZE93-8022 - - - -
XR250(MD30) 95-07 M16x27-P1.5 H13L ZE93-8022 - - - -
XR250M 03-07 M16x27-P1.5 H13L ZE93-8022 - - - -
CRF250L 13-20 M16x27-P1.5 H13L ZE93-8022 - - - -
CRF250M 13-17 M16x27-P1.5 H13L ZE93-8022 - - - -
CRF250RALLY 17-20 M16x27-P1.5 H13L ZE93-8022 - - - -
CRF450L 19-20 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
CRF450RL 21 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
XR650L 93-18 M16x27-P1.5 H13L ZE93-8022 - - - -
YAMAHA
YZ125 99-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
YZ250 99-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
YZ250F 01-08 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
09-20 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
YZ400/426/450F 99-08 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
YZ450F 09-21 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
YZ125X 17-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
YZ250X 16-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
YZ250FX 15-20 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
YZ450FX 16-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
WR250F 01-20 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
WR400/426/450F 99-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
WR250R 07-17 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
WR250X 07-17 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
KAWASAKI
KX125 03-08 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
KX250 03-08 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
KX250F 04-18 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
KX250 19-21 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
KX250X 21 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
KX450F 06-18 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
KX450 19-20 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
KX450X 21 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
KLX450R 08-19 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
SUZUKI
RM-Z250 07-20 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
RM-Z450 05-20 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -
RMX450Z 10-17 M22x32-P1.5 H12L ZE93-8052 - ZE93-8055 | ZE93-8056 -




POSTERIORE

Moto Anni | Misure | Rosso | Orange | Verde | Blue | H-Blue
KTM

858X 04-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
1258X 99-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
150X 09-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
2505X 99-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
J50SXF 05-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
350SXF 11-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
450SX-F 07-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
125EXC 99-16 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
150EXC 20-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
200EXC 99-16 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
250EXC 99-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
300EXC 99-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
250EXC-F 06-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
350EXC-F 12-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
450EXC-F 17-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
500EXC 12-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
125XC-W 17-19 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
150XC-W 17-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
200XC-W 06-16 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
250XC-W 06-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
300XC-W 06-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
450XC-W 07-16 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
500XC-W 12-16 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
250XCF-W 06-16 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
350XCF-W 12-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
500XCF-W 20-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
125XC 21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
150XC 10-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-14 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
250XC 06-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
300XC 06-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
250XC-F 07-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
350XC-F 11-12 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
450XC-F 13-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069

HUSQVERNA

TC85 14-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
TC125 14-15 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

16-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
TC250 14-16 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

17-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
FC250 14-15 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

16-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
FC350 14-15 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

16-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
FC450 14-15 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049

16-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
TE125 12-16 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
TE150 17-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
TE250 11-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
TE300 11-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
FE250 11-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
FE350 13-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
FE450 09-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
FE501 13-21 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
TX125 17-19 M20x30-P1.5 H13L - ZE93-8043 - ZE93-8046 | ZE93-8049
TX300 17-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
FX350 17-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069
FX450 17-21 M25x32-P1.5 H18 - ZE93-8063 - - ZE93-8069




